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Evaluate – Paper 1 - Exemplar 1 (1BS01) Question 7(e) 
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pt 

The candidate 

demonstrates 

understanding of 

what ’e-commerce’ 

is. 

A positive impact is 

provided with 4 

logical linked strands 

of development 

which includes 

application. 

A second positive 

impact is given and 

further linked strands 

are provided, 

allowing the 

candidate to generate 

‘5’ linked strands. 

Once again, there is a 

lot of application 

evident. 
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The candidate then 

goes on to provide 

further linked strands 

that are unnecessary. 

The candidate then 

provides a section of 

developed 

counterbalance. 

There is a 

conclusion, but it is 

unconvincing and a 

basic attempt is 

made at using the ‘it 

depends’ rule. 
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Commentary: 

The candidate starts off by making it clear what ‘e-commerce’ is and offers up some 

application right from start by way of an example. In the second paragraph, the candidate 

states an impact and then provides 4 linked strands of development. The linked strands are 

logical and make excellent use of terminology and application. The third paragraph, 

introduces a separate impact and this is again developed and the candidate then surpasses 

the requirement for 5 logical linked strands of analysis. Again, this paragraph contains use of 

terminology and application. The penultimate paragraph starting with the word ‘However…’ 

provides some reasonably developed counterbalance which again is done with a significant 

amount of application present. Finally, the candidate offers a conclusion, and although the ‘it 

depends rule’ is used it is really more of a statement than a penetrating conclusion. Again, 

application is present in the final paragraph. 

Thus, the candidate has a clear understanding of the question and makes strong use of 

terminology allowing Level 3 to be achieved for ‘AO1b’. There is application throughout 

allowing Level 3 for ‘AO2’ and there are 5 linked strands of analysis spread out over 2 impacts, 

allowing Level 3 for ‘AO3a’. Evaluation was solid, but the conclusion was disappointing 

allowing a strong Level 2 to be awarded. With three Level 3s and a strong Level 2, the response 

was placed in Level 3 overall and was awarded 10 marks. 

To improve, the candidate could have cut down their development of the second impact since 

5 linked strands had already been achieved. With a more penetrating conclusion the 

candidate had the potential to achieve full marks. 
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Evaluate – Paper 1 - Exemplar 2 (1BS01) Question 7(e) 
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pt 

The candidate 

demonstrates some 

understanding of 

what the ‘marketing 

mix’ is. 

A positive impact is 

provided with 2 

logical linked strands 

of development 

which includes 

application. 

A second impact is 

given and a further 3 

linked strands are 

provided, allowing 

the candidate to 

generate ‘5’ linked 

strands in total. Once 

again, there is a lot of 

application evident. 
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Commentary: 

The candidate starts off by defining one of the key terms in the question. In this case the 

‘marketing mix’. However, the ‘promotion’ element is missing from this. The candidate then 

goes on to demonstrate an understanding of what ‘e-commerce’ is which, then naturally leads 

to the first impact or point. This point is then developed to show how ‘place’ could be affected 

and two linked strands are developed in context. 

The second point starts with the word ‘Moreover’ and shows how the ‘price’ element of the 

marketing mix could be impacted. The impact or point is developed with three logical linked 

strands that are also in context. 

The candidate has not developed any counter-balance at all and there is no conclusion. Thus, 

the response is devoid of any ‘Evaluation’ or ‘AO3b’. 

Overall, the candidate was awarded Level 2 for ‘Understanding’ or ‘AO2’ since there was a 

solid decent attempt to answer the question and focus on the specifics of the marketing mix. 

For ‘Application’ or ‘AO2’ there was plenty of contextualisation throughout the response (as 

shown by the blue boxes) and Level 3 was awarded. This level was repeated for ‘Analysis’ or 

‘AO3a’ since there were 2 points/impacts and at least 5 logical linked strands within the 

answer. Sadly, the lack of any balance at all meant that Level 0 had to be awarded for ‘AO3b’ 

or ‘Evaluation’. With a Level 2, two Level 3s and a Level 0, a line of best fit takes the answer 

to the middle of Level 2 and 6 marks were awarded. 

To improve, the candidate could have used a paragraph structure and needed to demonstrate 

evidence of ‘Evaluation or ‘AO3b’ within their response. This may have been a timing issue 

and perhaps the candidate spent too long on lower order questions earlier in the paper. 
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Evaluate – Paper 1 - Exemplar 3 (1BS01) Question 7(e) 

 

 

 

 

 

 

 

 

 

The candidate 

demonstrates 

understanding of 

what ’e-commerce’ 

is. 

A positive impact is 

provided with 3 

logical linked strands 

of development 

which includes 

application. 

A second positive 

impact is given and 

further linked strands 

are provided, 

allowing the 

candidate to generate 

‘5’ linked strands 

overall. Once again, 

there is a lot of 

application evident. 
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There is a 

conclusion, and the 

‘it depends rule’ is 

used in a convincing 

way. The conclusion 

also has evidence of 

application. 

Candidate provides 

subtle evaluation 

through considering 

the magnitude of 

effects on the 

marketing mix 

Candidate provides 

more evidence of 

subtle evaluation 

through questioning 

whether e-

commerce 

threatens the use of 

a bricks and mortar 

store. 
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Commentary: 

The candidate starts off by making it clear what ‘e-commerce’ is and offers up some 

application right from start by which leads to the first point or impact. This is then developed 

in context and 3 linked strands are generated. In the second paragraph, the candidate states 

a second point or impact and then provides at least a further 2 linked strands of 

contextualised development allowing the candidate to meet the ‘AO3a’ or ‘Analysis’ Level 3 

criteria. Throughout the response there is clear use of terminology (as shown by the red 

boxes) and constant use of application (as shown by the blue boxes). 

The third and fourth paragraphs, continue to consider the impact of e-commerce on the other 

two elements of the marketing mix and start to introduce subtle evaluation where the issue 

of ‘how important’ is addressed. The candidate continues to make strong use of terminology 

and application. 

In the final paragraph, the candidate provides a conclusion which makes good use of the ‘it 

depends rule’ and this conclusion is developed on and in context. Thus, the candidate was 

adjudged to have scored Level 3 in all 4 assessment objectives. This led to the response 

reaching Level 3 and being awarded 12 marks. 

It is worth pointing out that the candidate was not expected to consider the impact of ‘e-

commerce’ on every component of the marketing mix. 

Page 8 of 14



Evaluate – Paper 2 - Exemplar 1 (1BS02) Question 7(e)

 

 

 

 

 

 

 

 

 

 

 

 

pt 

1 

2 

3 

4 

5 

The candidate 

demonstrates 

understanding of 

‘Fairtrade’ and 

includes ‘application 

right from the start. 

An advantage of the 

new ‘Fairly traded 

scheme’ to 

Sainsbury’s is 

provided with more 

than 5 logical, linked 

strands of 

development which 

includes application. 

The candidate then 

provides a section of 

developed 

counterbalance which 

is applied to the case-

study. 

There is a conclusion, 

and it makes good 

use of the ‘it 

depends’ rule and 

this is explained with 

good use of 

application. 
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Commentary: 

The candidate starts their response with an explanation of what ‘Fairtrade’ is and provides a 

contextualised example. 

In the second paragraph, the candidate offers an advantage of the new ‘Fairly Traded’ scheme 

to Sainsbury’s and develops it with more than 5 logical linked strands of development. The 

application within this section is excellent. The candidate is clearly thinking about inserting 

application into pretty much every linked strand (as shown by the blue box annotation). There 

is also accurate use of terminology (as shown by the red box annotation). Note how this 

candidate decides to develop 5 linked strands of analysis around a single point. 

In the third paragraph, there is a developed block of accurate counterbalance which is also in 

context. 

In the final paragraph, there is a conclusion that makes use of, and develops, the ‘it depends 

rule’. The conclusion is also in context. 

With a significant amount of understanding, application, analysis and evaluation, this 

candidate was awarded Level 3 in all assessment objectives and as a result received a Level 3 

overall and achieved 12 marks. 

This response demonstrates that writing, at length, is not necessary to generate 12 marks in 

this style of question. Sometimes, it can be a case of ‘less is more’. 

Page 10 of 14



Evaluate – Paper 2 - Exemplar 2 (1BS02) Question 7(e) 
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A positive impact is 

provided with 5 

logical linked strands 

of development 

which includes 

application. 

The candidate then 

provides a section of 

developed 

counterbalance 

which includes 

application. 

There is a 

conclusion, that is 

developed. There is 

no use of the ‘it 

depends’ rule but it 

does more than 

summarise 

comments made 

earlier in the 

response. Note that 

the conclusion is 

generic though. 

Page 11 of 14



Commentary: 

This candidate starts makes a point or impact very early on in their answer and then goes on 

to produce 5 logical linked strands that develop the point/impact. There is plenty of 

application in evidence (shown by the blue box annotation) and good terminology (shown by 

the red box annotation) is used throughout this paragraph. 

In the second paragraph, the candidate provides developed counterbalance which is again in 

context. 

In the conclusion, the candidate does not use the ‘it depends’ rule but does consider a factor 

that may or may not cause the Fairly Traded to successful. Thus the conclusion, does go 

beyond simply re-phrasing what has already been developed earlier in the response. 

However, the conclusion is generic and application dried up at the end of the second 

paragraph. 

Thus, the candidate has a clear understanding of the question and makes strong use of 

terminology allowing Level 3 to be achieved for ‘AO1b’. There is application but it is not 

throughout the response allowing Level 2 for ‘AO2’. The development of 5 linked strands of 

analysis spread out over an impacts, allows Level 3 for ‘AO3a’ or ‘Analysis’ to be awarded. 

Evaluation was solid, but the conclusion was disappointing allowing a Level 2/3 judgement. 

With two Level 3s, a Level 2 and a Level 2/3, the response was placed on the threshold 

between Level 2 and Level 3 overall. This led to the award of 9 marks. 

To improve, the candidate needed to ensure that application was maintained throughout the 

response. This issue was typical of many answers and application or ‘AO2’ tended to dry up 

as candidates’ progressed through answering the question. 
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Evaluate – Paper 2 - Exemplar 3 (1BS02) Question 7(e) 
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The candidate 

demonstrates 

understanding of 

what ’Fairtrade’ is. 

A positive impact is 

provided with 5 

logical linked strands 

of development 

which includes plenty 

of application. 

The candidate then 

provides a section of 

developed 

counterbalance 

which is in context 

and makes good use 

of terminology and 

application. 
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Commentary: 

The candidate starts off by making it clear what ‘Fairtrade’ is and offers up some application 

right from start through the use of the word ‘farmer’. 

In the second paragraph, the candidate states an impact and then provides more than 5 linked 

strands of development. The linked strands are logical and make excellent use of terminology 

and application. 

In the third paragraph, the candidate produces a block of developed and applied 

counterbalance. This then leads to a conclusion which has application and double use of the 

‘it depends’ rule. 

Thus, the candidate has a clear understanding of the question and makes strong use of 

terminology allowing Level 3 to be achieved for ‘AO1b’. There is application throughout 

allowing Level 3 for ‘AO2’ and there are 5 linked strands of analysis spread out over 2 impacts, 

allowing Level 3 for ‘AO3a’ or ‘Analysis’. Evaluation was very strong and a convincing Level 3 

was also awarded for this assessment objective. With four Level 3s, the response was placed 

in Level 3 overall and was awarded 12 marks. 

There is a 

conclusion, that 

makes good use of 

the ‘it depends’ rule 

and provides 

evaluation on top of 

evaluation. The 

conclusion is also 

developed and 

there is evidence of 

context. 
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